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Questions
4 out of 40 boys failed in an examination what percent of boys failed and what percent

passed the examination:

12 machines complete a piece of work in 6 days, in how many days 6 machines will complete
the same job:

All pays Rs. 37.50 as commission to sale agent on the sale of Rs. 500, how much
commission Ali will pay on the sale of Rs.87507?

A train covers 660 km distance in 12hours. in 16 hours. how much distance train will cover?

Cost of the dozen watches is rs. 2580, Find the cost of 25 watches,

The written price of a coat is Rs. 275 is if% rebate is given on the written price, what will a
customer pay:

if total marks for an examination are 850 and a candidate gets 80% marks. How many marks
does he obtain:

The population of a locality is 4500. if 27% are women, 32% are men and men and the rest
of its are children.

A shop sells one chocolate at Rs. 1 each, Yo can get one chocolate free by returning three
wrappers. if you have Rs. 15, how many chocolates can you get in total:

40 men can build a wall 20m high in 15 days. the number of men required to build a similar
wall 25m, high in 6 days will be:

Answers Choice
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. 95%
. 80%
. 96%
90%

. 10 days <br>
. 22 days <br>
. 112 days <br>
. 15 days <br>

. Rs. 686.25<br>
. Rs. 696.25<br>
. Rs. 656.25<br>
. Rs. 676.25<br>

880 km

850 km<br>
870 km<br>
780 km<br>

Rs.5375<br>

Rs. 6375<br>
Rs. 7375 <br>
Rs. 8375<br>

Rs.360

Rs.330<br>
Rs.340<br>
Rs. 350<br>

650
680
660
670

1825
1835
1845
1864

15
20
21
22

100
125
. 1560
. 200



